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Friday, October 5, 2007


--- On commencing at 9:00 a.m.


MR. ROSENBERG:  We're on the record.  Good morning.  Before we begin, are there any preliminary matters?


MS. GIRVAN:  We just have one follow-up question, just to get back in the queue, if that is okay.


MR. ROSENBERG:  You can go to the front of the queue.  Again, this is not a hearing, so it is not as if you have only one chance.  We do want to make sure everybody has an opportunity to ask questions.  So if there are no preliminary matters, this line-up would be back to Ms. Girvan, and then the PWU.  And who else?  I know Enbridge and Schools.  Here is Schools.


Why don't we start with CCC, PWU, then Schools, and then Enbridge?

BOARD STAFF – PANEL 1; Resumed

Dr. Robert Lowry; Resumed

Questions by Mr. Loube (cont’d)


MR. LOUBE:  Dr. Lowry, yesterday my first question was asking about the rates that you show and your summary table shows about a 1.3, 1.4 average annual percentage increase in rates for Enbridge, while in Enbridge's table they show about a 3.8 percent.  Are you prepared to comment on that difference now?


DR. LOWRY:  Yes.  That's a good question.  It is just central to finally deciding on what constitutes a proper price-cap index, because all the stakeholders need to consider, what has the rate trend been for these two companies, not to say that the rate trend in the future is always going to be like it is in the past.  But it's definitely very germane, what was their recent rate trend?


The fact of the matter is that when accurately measured, the rate trend of Enbridge has been substantially less than the rate of the inflation in recent years, notwithstanding everything they say about the challenges of their rapid customer growth.


This isn't due to the fact that their rates have somehow gotten out of kilter with their unit cost.  On the contrary, they're trued up annually because they have been having annual rate cases.  


So there is something about the economics of their business that they're somehow managing to serve all of these customers with rate increases that are substantially less than inflation.


Now, as to why there would be this discrepancy between rate trends, I would just say, in a nutshell, that the measure that they use is a very crude one that, coincidentally or otherwise, serves their interest.  


If you look at the billing determinants of the company, the number of customers is, of course, growing a lot more rapidly than the delivery volume.  That's why they have a declining-average-use problem.


So if you want to make your rate trend appear to be very brisk, you would divide your revenue by your volume and say, Look, this is what's happening to our rates.  But, in reality, a fair bit of the revenue requirement of both companies is obtained by fixed charges that are linked to the customer growth.


So you really want to have a denominator that is a weighted average of, ideally, the delivery volumes, the number of customers and any maximum demand terms.  And the weights for those should be the revenue shares.


So essentially that's the approach that we take and it yields a very different result.


MR. LOUBE:  Thank you.


MR. ROSENBERG:  Next?


MR. LOUBE:  That was it.


MR. ROSENBERG:  Over to you, Fred.

Questions by Mr. Hassan


MR. HASSAN:  Thank you.  Fred Hassan on behalf of the Power Workers' Union.  Mr. Stephenson distributed updated questions two days ago, so I take it everyone has those revised questions and I will just proceed at the top and go from there.


The 2003 Enbridge benchmarking study, the O&M costs performance of Enbridge Gas Distribution, Dr. Lowry, et cetera, prepared that on January 23rd, 2003.  Please confirm that this is a copy of the work undertaken by PEG for Enbridge and that it was dated January 2003.


DR. LOWRY:  Yes.


MR. HASSAN:  And that this was filed with the Ontario Energy Board?


DR. LOWRY:  Yes.


MR. HASSAN:  There is a description of business-conditions variables.  I think you can see all four of those points there.  Can you confirm that those are the four business-condition variables that are referred to in that document?


DR. LOWRY:  I will accept that, subject to check.


MR. HASSAN:  In that report, you looked at frost depth and earthquake risk and found them to be statistically significant and that they affected the distribution costs based on the econometric model results that you had.  


We have given you a quote at page 21.  Can you please confirm that both of these were found to be statistically significant?


DR. LOWRY:  Yes, all the variables that would be in the model would be statistically significant.


I might as well say now - I could say it later - that those variables could have been considered for use in our current work, and as both PWU and -- first of all, let me say that the way we estimate a cost function, it really would have very little bearing on any productivity target, because these are not conditions that change with time.


Nonetheless, after both Enbridge and PWU raised this issue, we have now gone back to reconsider the introduction of those variables into the model.


What we find is that if you put either one of them into the model individually, each of them is marginally statistically significant and with the correct sign.  So it could be -- an argument could be made to put that into any final model that we try.


However, when you put both of them into the model, one of the two variables falls out, and the one that falls out is the frost depth.  So based on that research, probably in the final numbers that we present to the Board, will include the earthquake dummy again, as it was in this California model.


MR. HASSAN:  Thank you.


DR. LOWRY:  I might comment to you that that was a benchmarking model and that at the time we were actually working for both a Los Angeles area distributor and for Enbridge, so we wanted to be extra sure that special operating conditions in their service territories were included in the model.


Usually, once we find a variable significant, it stays in our model for all subsequent clients, and, in this case, we were kind of racing at the time to put some US numbers in for TFP projection, and there was an oversight about considering that variable -- these variables.


MR. HASSAN:  Thank you.  So in the 2007 work, have you included frost depth in your econometric model, then?


DR. LOWRY:  Not yet, but I suspect that one or the other or both of those will be in any subsequent model that we estimate.


MR. HASSAN:  Thank you.  Likewise, with the earthquake risk?


DR. LOWRY:  Yes.  We will definitely be considering those for the final model.


MR. HASSAN:  Question E.  Can you confirm that the California LDCs represent approximately 32 percent of the PEG sample versus 15 percent for the continental US in your June 8th report at page 20, table --


DR. LOWRY:  I believe that is -- as written is not quite right.  When you say "sample", I'm not sure what you mean by that.  It is certainly not 32 percent of the number of companies in the sample.


I think you must be referring to the percentage of the customers of all of the companies in the sample, and that might be true, because they have a disproportionate role even in the original sample, but then when we went to this two-volume variable model, we lost three companies that didn't have that split-out and one of those companies was a large company called -- well, it has a different number every year, it seems, but it was the old Lone Star Gas that serves a big chunk of Texas.

MR. HASSAN:  Okay.  Moving on to question 3, where we're looking at the sample size, 78 US LDCs used in the index construction at a subset of 42 US LDCs, in discussing the peer group selection in your 2003 report at page 7, it describes the difference of Enbridge being a gas distributor but not a power provider.  

Can you please confirm the above statement was the basis for PEG's selection of peers for Enbridge in the 2003 report.  

DR. LOWRY:  This is a long question that has a lot of variations on the same theme so let me make some introductory comments and then I can proceed to address your individual questions, if you like.  

First of all, yes, it is true that this was the criteria for use in that Enbridge study.  

Now, that study was different from this study in two important respects.  One, is that it was a focus on O&M instead of total cost.  And it so happens that data is more readily available for O&M expenses of US companies than it is for total cost, because of the difficulty of getting the capital-cost data back in time that you usually need for nice capital-cost work.


So we had available to us, for that study, a larger sample than would be available for this application which does include the capital cost.


Secondly, it must be remembered that this was a sample for a levels-benchmarking study, and the criteria for choosing a sample for the cost level is going to be different than for a sample that is for a -- cost trend considerations because if you're talking, say, about productivity trends, theoretically that is mostly a matter of the rates of change of the business conditions and not of their levels at a point in time.


So, for that reason, then, you know, I feel that it makes perfect sense that the samples would be somewhat different for the two applications.


MR. HASSAN:  Thank you.  Moving on to B.  We've listed Brooklyn Union, Atlanta Gas, East Ohio, Michcon, Southwest Gas, Southern California Gas and Ensearch as what we understand to be the gas-only US LDCs that were used in the Enbridge peer study in 2003.  Is that correct?  

DR. LOWRY:  I believe so.  

MR. HASSAN:  Can you confirm that only one of these large gas-only LDCs is used in the PEG's March 2007 peer group for Enbridge.  

DR. LOWRY:  I believe so and I think that one is Atlantic Gas Light, and this is a good example of the difference between a levels and a trends study.  

You look at these companies and notice one is Ensearch which was not available for this sample.  Another is Michigan Consolidated Gas which was not available for this sample.  Then you're down to companies like Brooklyn Union, East Ohio, Southwest Gas, Southern California Gas. 

Of those, Atlanta Gas Light, to my way, does have a considerable amount of intuitive appeal as a peer for Enbridge, because Atlanta is a fairly old city, which, however -- and they have had gas service there for a long time just like they have in Toronto.  In fact they like to brag about the fact that they still have facilities that show damage from Sherman's burning of Atlanta.  

Notwithstanding the fact that it's a fairly old city, it has grown enormously in the last 30 years and so compared to cities like Boston and Baltimore, all of that growth has resulted in it being a fairly young system and, so, with that rapid, galloping growth of the Atlanta metro area, it actually is a good peer for Enbridge.  

MR. HASSAN:  Thank you.  Can you confirm that none of these large ones, gas-only LDCs, were used in PEG's 2007 peer group for Union.  

DR. LOWRY:  In some of these cases, these really get to be very arcane answers and I am just going to read what the person who actually looked into this said.


It says, yes, additionally out of the seven companies chosen as O&M peers in the 2003 study, Brooklyn Union, Michigan Consolidated and Ensearch did not have sufficient data to be included in the March 2007 study.


MR. HASSAN:   I think -- I am waiting on you. 

DR. LOWRY:  Didn’t I answer that?  I said, yes, then I just added some comments. 

MR. HASSAN:  I thought you were looking for something else. 

DR. LOWRY:  No.  I am bracing for the next convoluted question.  

MR. HASSAN:  Please confirm that in March and June of 2007, peer groups for both Enbridge and Union small LDCs are included. 

DR. LOWRY:  I believe that is the case, yes. 

MR. HASSAN:  Can you please confirm in the September 2007 revisions of both the March and June 2007 peer groups for Enbridge and Union small LDCs are included.  

DR. LOWRY:  Yes, because we have, again, a smaller group of peers to choose from.  As it is for Enbridge, particularly, they have such an unusual combination of large operating scale and rapid growth that there is really only one company that is a great match for Enbridge.  So we need to expand the peer group a little bit by not getting so fussy about this issue of their having power deliveries.  

MR. HASSAN:  Please confirm in March and June 2007 peer groups for both Enbridge and Union, electric power providers are also included.  

DR. LOWRY:  I think that was – yes, that's right.  

MR. HASSAN:  Please confirm that in the September 2007 revisions of both the March and June 2007 peer groups for both Enbridge and Union, electric power providers are included.  

DR. LOWRY:  I've got the wrong list here now.  Now I'm getting confused.  

Just bear with me for one minute.  I think I was reading off your -- all right.  I'm sorry.  Which one are we on?  

MR. HASSAN:  "I".  

DR. LOWRY:  "I," okay.  The answer to I is "yes."  

MR. HASSAN:  The peer groups for Union in the June report include two California LDCs, two southwest LDCs and two southeast LDCs; is that correct?  

DR. LOWRY:  Yes.  

MR. HASSAN:  And what states are represented by the southwest and southeast LDCs?  

DR. LOWRY:  We weren't sure what you meant by that question, so we answered it two ways.  

I am going to read it off.  

"Our southwest region is defined by the states of Arizona, Nevada, New Mexico, Colorado and Utah.  Our southeast region is defined as the states of Georgia, North Carolina, South Carolina, District of Columbia, Virginia, Florida, and West Virginia."


Then we thought maybe you were interested in what states are actually served by these companies so now we will answer it the other way.
"The southeast peer Atlanta Gas Light serves most of the state of Georgia.  The southwest peer, Southwest Gas, has customers in the states of Arizona and Nevada and a few customers as well in the Mohave desert of California."


MR. HASSAN:  Thank you.  Please confirm that in the   September revisions of the June report, the peer groups for Union now have no California LDCs, only one southwest LDC, and only one southeast LDC.  

DR. LOWRY:  The answer to that is yes.  Now, let me just make another comment that I wanted to make, because this series of questions highlights the fact that our peer groups change.  

I would like to comment that it would be worrisome if they didn't change, because peer groups should be based on a solid empirical foundation, and if your empirical methods change for some reason, then the peer groups are likely to change, maybe not a little -- sometimes a little and sometimes a lot.  But the peer groups should reflect the empirical research.


Now, in contrast to our approach, which is founded in the empirical research, this northeast peer group that Enbridge advocates is not based on any empirical foundation at all.  They simply assert that these are the sorts of operating conditions that affect the level of cost of an LDC and, therefore, for some reason then go on to use this northeast peer group.  Although, bizarrely, when you look at the actual comparability of Enbridge to that peer group, it isn't even that similar.


For example, Enbridge doesn't have anywhere near as much cast iron as the typical company in the northeastern United States.


So I think that I'm very happy with the fact that our peer groups do change as the empirical methods change.


MR. HASSAN:  Thank you.


For the March and June 2007 reports, can you calculate the California LDC customers as a percent of Enbridge's peer groups' total customers, total customers of LDCs in the peer group?


DR. LOWRY:  It looks like there is a typo in the response here, so I will give you two out of the three.  I hope that will suffice.


For the June COS number, it is 67 percent, and for the June geometric decay, it is 63 percent.


MR. HASSAN:  Are you going to be able to provide us the ones for March?


DR. LOWRY:  If you like.


MR. HASSAN:  Thank you.


MR. MILLAR:  Take that as an undertaking.  That is JTC.1, and it is to provide the outstanding information from question 3(m) related to the March data.

UNDERTAKING NO. JTC.1:  DR. LOWRY TO PROVIDE OUTSTANDING INFORMATION FOR PWU QUESTION 3(M), RELATED TO MARCH DATA.


MR. HASSAN:  Question (n):  For the March and June 2007 reports, please calculate the California LDC customers as a percentage of Union's peer groups' total customers.


DR. LOWRY:  Again, I will give you two out of three for now.  For the June COS, it is 61 percent, and for the June geometric decay, it is 59 percent.


MR. HASSAN:  Sorry, I didn't hear that, Dr. Lowry, the latter part.


DR. LOWRY:  The latter part was for the June geometric-decay peer group.  It was 59 percent.


MR. HASSAN:  And, likewise, can we have an undertaking for March?


DR. LOWRY:  Surely.


MR. MILLAR:  JTC.2, provide the March data for PWU question 3(n).

UNDERTAKING NO. JTC.2:  DR. LOWRY TO PROVIDE MARCH DATA FOR PWU QUESTION 3(N).


MR. HASSAN:  Thank you.  Moving on to question (o).  Please provide the range of customers represented by the smallest and the largest LDCs in each utility's peer group for the June report.


DR. LOWRY:  For COS, the range for Enbridge peers is from 250,000 to 5 million.  The range of Union peers is 153,000 to 5.3 million.


For GD, the range for Enbridge peers is from 778,000, to about 5.3 million.  The range for Union peers is 253,000 to 5.3 million.


MR. HASSAN:  Please confirm that in the June report the peer groups for Enbridge differ between the geometric decay and cost-of-service models.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that in the September revisions of the June report, the peer groups for Enbridge differ between the geometric decay and cost-of-service models.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that in the June report, the peer groups for Union differ between geometric decay and cost of service models.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that in the September revisions of the June report, the peer groups for Union differ between the geometric decay and the cost of service.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that, of the 12 LDCs in the two peer groups specified by PEG in its March 2007 report, only three LDCs are present in the four peer groups specified by PEG in the June report.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that of the 12 LDCs specified by PEG in the June report's four peer groups, six of these had not appeared in any of the peer groups from the January 2000 or March 2007 reports.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that of the 18 total LDCs which appeared in the peer groups for the March 2003 and March 2007 reports, 12 of these LDCs do not appear in the June peer report.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that of the 24 LDCs that appeared in any of the eight previous peer groups, only ten appear in any of the four final peer groups, or 14 LDCs representing 60 percent of those appearing in prior peer groups are not present in the final peer group.


DR. LOWRY:  That is what I call one heck of a question.  We have a little text here for that.  The answer is "yes", with the additional comment that out of the 11 final peers in the four peer groups, ten peers, i.e., 91 percent, have appeared in previous peer groups and 14 candidates from previous peer groups were not chosen.  That's it.


MR. HASSAN:  Please confirm that in the September revision of the March report, Union's peer group has changed from the original peer group provided in March.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that a number of utilities have alternated being in and out of various peer groups or alternated being out, and then being in.  For example, please confirm Atlantic Gas is in Enbridge's 2003 peer group, not in Enbridge's March or June peer groups; is in the September revision of the March report; is not in the September GD revision of the June report, but is in the September cost-of-service revision of the June report; or please confirm that the New Jersey Natural, which is not in Enbridge's 2003 peer group, is in the March 2007 Enbridge peer group, is not in Enbridge's June peer groups, but is in the September 2007 revision of the June report's peer group.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm the final peer groups for Enbridge, i.e., the September revision of the June report, now includes LDCs from 2003, March 2007 and June 2007 peer groups.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that the final peer groups for Enbridge, i.e., the September revisions of the June report, now include at least one LDC that had not previously appeared in 2003, March 2007 or June 2007.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that the final peer groups for Union, the September revision of the June report, now includes LDCs from the March 2007 and June 2007 peer group.


DR. LOWRY:  Yes.


MR. HASSAN:  Please confirm that the final peer groups for Union, i.e., the September revision of the June report, now includes at least one LDC that had not previously appeared in the March or June peer group report.


DR. LOWRY:  Yes.


MR. HASSAN:  Question 4(a).  Please confirm that in the January 2003 report, PEG decomposed uncapitalized O&M expenses into labour and non-labour services.


DR. LOWRY:  Yes, we did.


MR. HASSAN:  What was the source of the O&M expense in labour-services data for Enbridge that PEG used in January 2003 work?


DR. LOWRY:  The source was Enbridge.


MR. HASSAN:  Thank you.  Those are all of our questions.


MR. ROSENBERG:  Thank you.


MS. GIRVAN:  Excuse me, Mr. Rosenberg, I had a question for Mr. Hassan.


When you refer specifically to the September revisions to the June report, can you identify specifically what you are referring to?  Is it IGUA 12?


DR. LOWRY:  I forget -- I don't think it was IGUA 12, but in answering one of the questions, we did discover that there had been a miscalculation of the peer group from the June 20th report.


Therefore, naturally, we corrected the way that was done, and, not surprisingly, then, the peer group was different again because of the correction of that.  So that is what he is referring to.


MS. GIRVAN:  Can you identify the exhibit in which you set that out for us?


DR. LOWRY:  I'm not sure off the top of my head.  There have been so many questions...


MR. MILLAR:  Maybe we will find it for you, Julie.  

DR. LOWRY:  I'm thinking it was an Enbridge question.  Mike is saying he thinks it was too.  

MR. HASSAN:  I will have to look for it.  I had it this morning.  

MR. MILLAR:  We will have a look for it.  

MS. GIRVAN:  Thanks.  

MR. ROSENBERG:  I think that leaves Schools and Enbridge.  So I will hand it over to Schools.  
Questions by Mr. Shepherd 

MR. SHEPHERD:  I'm sorry I missed yesterday afternoon. I have had a chance to read most of the transcript and I see that a couple of my questions have been answered in full or in part.  

You have my written questions, Dr. Lowry.  Let me start with No. 1.  This refers to your answer to IGUA 
No. 7, in which you talk about a rate freeze or percentage-of-inflation approach.  You talked about this a little yesterday.  

So our question is:  Please advise whether a rate-freeze or percentage-of-inflation approach is a suitable method of adjusting for a utility's relative inefficiencies or high prices.  If not, why not?  If so, please provide examples and a description of how those methods should be used.  

DR. LOWRY:  Jay, I'm sorry I'm not finding your questions.  I probably can just answer them off the top of my head, but I was hoping to have the actual write-up of the question. 

Can someone present me with written questions?  I thought I had it here.  Thank you.  

A rate-freeze or a percentage-of-inflation approach could both, in principle, be used to adjust for a utility's relative inefficiencies or high prices.  But of course, there has to be an empirical substantiation for the idea that of, let's say, a rate freeze is just and reasonable or any percentage adjustment to inflation is reasonable.  

If the utility and the intervenors can agree on, say, a rate freeze, then I have no problem with that.  But if the utility feels that is unfair, then I think you must go to supplemental research, such as input price and productivity research, to verify that that would be fair for the utility.  

MR. SHEPHERD:  You had a discussion with Mr. Thompson about this yesterday.  Did I understand correctly that what you were saying is that a rate freeze, for example, might, as a matter of chance, be the right productivity calculation, but that would just be coincidence.  It is a simplified way of taking an approach if it is close to the right number.  Is that fair?  

DR. LOWRY:  Yes, and it is one that is particularly popular.  People seem to be able to agree on that.  

So you see quite a few rate freezes in situations where, in my opinion, a rate decline might actually be even more appropriate, but people can often agree on that.  

So as I say, you see quite a few rate freezes, particularly in the United States.  

MR. SHEPHERD:  Now, you talked yesterday about SoCal Gas and San Diego Gas & Electric that has a revenue cap structure with a 2-1/2 percent increase.  But they're fast-growing.  So was that effectively a rate freeze, because the growth and the revenue cap ended up offsetting each other?  You talked about that as a sort of indirect rate freeze.  

DR. LOWRY:  I'm not sure what you're referring to.  The San Diego and Southern California Gas are currently operating under what I might call a CPI-minus-zero revenue cap.  So that is tantamount to an X factor that is equal to customer growth.  

I don't know that it is fair to say that either one of those companies has rapid customer growth, however.  They have kind of normal customer growth.  

MR. SHEPHERD:  So they end up increasing their rates each year?  Their unit rates?  

DR. LOWRY:  The revenue requirement goes up by, I think it is -- it may be CPI, I think it is.  

MR. SHEPHERD:  Their growth isn't that much?  

DR. LOWRY:  Their customer growth might be 2.2 percent so the X factor is tantamount to 2.2 percent. 

MR. SHEPHERD:  If CPI is 2.2 percent, then they have a rate freeze?  

DR. LOWRY:  No.  No.  Because like I say, it's...

I would have to think about that.  I'm not sure.  But certainly, there is no shortage of examples of gas companies that have operated under rate freezes, including -- for some reason that has been very popular in New York state and a number of the gas utilities in upstate New York have operated under rate freezes at various times in the last 15 years.  

MR. SHEPHERD:  Union did as well; right?  

DR. LOWRY:  Pardon?  

MR. SHEPHERD:  Union did for three years; right?  

DR. LOWRY:  I will take that subject to check.  

MR. SHEPHERD:  Second question is:  How should the benefits of lower regulatory costs be factored into the decisions about the type and structure of an IRM?  In particular, we would like to know what to what extent, if any, is the size of the utility a relevant consideration in assessing the value of lower regulatory costs. 

DR. LOWRY:  That is a good question.  Ordinarily I wouldn't think that regulatory cost would be a major consideration in deciding on the type and structure of an IRM.


It becomes more of an issue the more utilities a jurisdiction is having to evaluate.


So for example, the Ontario Energy Board, as it looks out at 80-plus power distributors, will understandably be thinking about some sort of an IRM.  

However, at the other extreme, they only have two gas distributors subject to their jurisdiction.  So I wouldn't think that the regulatory costs would be as much of a consideration if you're only dealing with two companies.  

A partial exception to that rule, however, is when you are coming in for an annual rate case for a fairly mundane and repetitive set of operating conditions, like declining average use.  If you're just coming in every year and having a whole rate case just because of declining average use, that is kind of wasteful when perhaps a unit-cost trajectory can be identified and you can subject it to indexing.  

MR. SHEPHERD:  Is there also a materiality issue, in the sense that if you have a bigger utility, the regulatory costs are relatively smaller proportionate to their -- 

DR. LOWRY:  Yes.  That's what I was saying.  I agree with that part of it.  It is just that additionally, in the case of Enbridge and Union, you might be seeing companies coming in frequently just because of a declining--average-use problem that we ought to be able to solve mechanistically and then they would have stronger performance incentives and the benefits can be shared between the company and the customers. 

MR. SHEPHERD:  That is just an issue of wastefulness?  

DR. LOWRY:  Pardon?  

MR. SHEPHERD:  Of being wasteful.  That is just about being wasteful as opposed to materiality?  

DR. LOWRY:  Yes.  

MR. SHEPHERD:  Yes.  Our third question relates to IGUA 31.  You said that your, what is it, ADJ variable had to be recalculated to split the class, the M2 class. 

Can you actually split, actually recalculate that based on the split class?  Or if you can't do the full calculation, can you at least estimate what it would look like?  

DR. LOWRY:  In our update, we will try to do something about that.  If we can get the data for that, we will try to effect a split there.  

MR. MILLAR:  JTC.3, and that is I guess a best-efforts undertaking to provide an answer to Schools Question No. 3.  
UNDERTAKING NO. JTC.3:  DR. LOWRY TO PROVIDE AN ANSWER TO SEC QUESTION NO. 3


DR. LOWRY:  Although that is not, in my view, that is not something that I can have done by the 11th.  It will be done when the final report is done.  We will endeavour to incorporate that if, if we can.  

MR. SHEPHERD:  That's fine.  

Our Question No. 4 deals with X factor.  I will read it out to you:  Please advise what the impact would be of assuming, instead of your assumption in your answer to the question, that Enbridge currently has a below-average level of operating efficiency.  

Is there an algorithm or other rigorous method of adjusting the X factor to take into account the initial level of operating efficiency?  And is initial operating efficiency most appropriately reflected in the TFP estimate, the stretch factor, or in some other way or in combination?  What are the factors appropriate to determining the best way to deal with initial operating efficiency?

DR. LOWRY:  Yes, there is an algorithm.  The issue of how you would adjust the X factor could, in principle, be addressed empirically, if people had evidence on that.  However, I know of no such empirical work.  So the best available tool that we have in this proceeding is the algorithm that is part of our incentive power model.

Our incentive power model does address how initial operating efficiency will affect the response of the utility to an IR plan.  It does suggest that there will be somewhat quicker productivity growth for an inefficient firm relative to an efficient firm.

So that at least is one way of getting evidence on that.

MR. SHEPHERD:  When you ran your model in this context for Enbridge, you ran it on the assumption that Enbridge had average operating efficiency.  It starts out right on the mean; right?

DR. LOWRY:  Yes.

MR. SHEPHERD:  Is it possible for you to produce a sort of a sensitivity analysis that can give the Board the range of results, X factor results, given what the Board decides about the initial operating efficiency?

DR. LOWRY:  Yes.  I'm just trying to think.  We have an answer for an Enbridge question today that treats that.  I'm not sure about that.  That might not be satisfactory.  But I think maybe take it as an undertaking, that to the extent that our Enbridge answer isn't satisfactory, that we will provide some additional information on that.

MR. MILLAR:  JTC.4, and that is I guess to provide an answer to School's No. 4, and if it is covered by another IR, then you can --
UNDERTAKING NO. JTC.4:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO SEC QUESTION NO. 4.


DR. LOWRY:  That's correct.  Now, as for how you adjust the X factor for purposes of evidence of initial operating inefficiency, I would say that it is done through the stretch factor.

As for what factors are appropriate to determine the best way to deal with initial operating efficiency, I guess I'm not sure what you mean by that.  Could you clarify?

MR. SHEPHERD:  It was late at night when I wrote this.  I don't remember.

I guess what we're trying to get from you is -- you've dealt with this issue before of how you deal with it.

DR. LOWRY:  Yes.

MR. SHEPHERD:  How is it appropriate for the Board to approach this?  Should it be done in a very empirical way?  Is it something you can do using judgment as a --

DR. LOWRY:  Ideally, it would be done empirically, but of course we know that all of this empirical work is time-consuming and it is complex.

I would comment that there is no evidence that I know of right now about the initial operating efficiency of either company.  I did a study a few years ago for Enbridge - two studies - and that did show good operating efficiency.  But our methods have evolved since then to -- are more refined.  

For those of you here who participated in the benchmarking proceeding, you will know that I was sent away from the last technical conference with a charge of trying to look at operating expenses in the light of a company's usage of capital, including the age of the system.

That is a good example of something that wasn't done in that study that probably should be, because Enbridge, for example, has such brisk customer growth that that should help them to have lower operating expenses.

I would also note that simple unit-cost comparisons are not a good idea for Enbridge, because its large operating scale should permit it to have scale economies that are not controlled for with a unit-cost comparison.  It is one of these situations where something like a trans log approach is particularly appropriate for a very large 
-- a translog approach is particularly appropriate for very large companies or very small companies.  

So there is no evidence, so far as I know, for either company being superior, average or inferior.

MR. SHEPHERD:  Two follow-ups to that.

You referred to the use of capital in your aside.  You've heard some discussion about vintage issues and about the need to replace aging capital.

You talked about Atlanta this morning.

DR. LOWRY:  Hmm-hmm.

MR. SHEPHERD:  Atlanta has some very old capital, but has primarily a young system.

Is that pattern, which is similar to Enbridge, is that one in which you tend to have higher capital costs because of the old stuff, or you tend to have lower capital costs or maintenance costs?

DR. LOWRY:  The old stuff keeps your capital costs down until you replace it with something new, and the old stuff will tend to raise your O&M expenses a little bit.

In the case of Enbridge, I don't know how much that would matter, however, because they actually have very little cast iron.

MR. SHEPHERD:  Question No. 5 you have already answered, similar to IGUA No. 6, and I think you answered that yesterday with an undertaking.

The Question No. 6 I think you just answered in this discussion we've had.

Question No. 7.  You have referred in one of your answers to the slow productivity growth of Enbridge in the past.

DR. LOWRY:  Can we backtrack to 6, though?  I did have one comment there, Jay, and that is that -- because I know you have an interest in the rates-comparison approach, which is perfectly valid, but I just comment about that, that when you get a rate comparison, most of the same issues still arise as would appear in a unit-cost comparison.  Rates are still a function of the unit cost, which is a function of all sorts of operating conditions.

So if one were to go down that road, it is still a pretty complex analysis.

MR. SHEPHERD:  If you have a significant rate differential, it's like saying you have a cost.  It doesn't mean that you know what the reason is, but it is enough of a symptom that you should go look; right?

DR. LOWRY:  It's a symptom, right, but it is the beginning of the benchmarking and not the end, to make a rate comparison.

MR. SHEPHERD:  Okay.  Question No. 7 refers to your comment on the slow productivity growth of Enbridge in the past and asks:  To what extent is this the result of or related to the regulatory regime under which Enbridge has been operating during this period covered by your data -- that is, they have been under, essentially, annual cost of service for most of it; and to what extent, if any, is it possible to forecast or estimate the level of productivity increase of Enbridge that would result from a change in the regulatory regime in the future?

This is something in which empirical work has, in fact, been done, right, this concept of moving from cost of service to IR and what it means to your productivity?

DR. LOWRY:  On average, there is a theory about the frequency of rate cases and productivity growth.  One would expect a relationship there.  The more frequent the rate cases the slower the productivity growth.  But that is a theory that would be true, on average, for a great many companies, and if Enbridge had slow productivity growth in the last five years, at a time when it had virtually annual rate cases, it is not necessarily because of the annual rate cases.

MR. SHEPHERD:  It could be because of that?

DR. LOWRY:  It could be, yes.

MR. SHEPHERD:  Is there some way of telling?

DR. LOWRY:  No easy way of telling that.  We don't know enough here to say that.  We certainly don't know enough about them to say that is the reason.

The main reason that their productivity growth has been slow has been rapid O&M expense growth, which is why, to me, it is irrelevant that their productivity growth is similar to that of the northeast United States, which had far more rapid O&M productivity growth.

At any rate, why that is true I am not sure.  I think it may have something to do with that contract that they negotiated for their customer-service expenses.  I'm not sure about that.  Don't really know exactly why that was so slow.

MR. SHEPHERD:  The second part of the question is:  What can you tell us about what happens when you move from slow productivity growth and cost-of-service to an incentive-regulation structure?

Is there a number?

DR. LOWRY:  Well, again, our incentive power model does yield a number.  Whether it is, you know, accurate, I don't know, but it would yield a number about that.

MR. SHEPHERD:  I didn't know that.  Does your model have factored into it what the past ^5e^ regulatory scheme was?

DR. LOWRY:  It can only go, sort of, steady state from one scheme to another.  It can compare the performance of a company that has been, you know, what the typical productivity growth of a company that has operated for a great many years in annual rate cases compared to one with, you know, five and six years between rate cases.  

MR. SHEPHERD:  So when you ran that model for Enbridge, the model assumes cost of service and then assumes going to IR?  

DR. LOWRY:  No, it just assumes that the company had average operating efficiency and was operating under this system repeatedly.  

MR. SHEPHERD:  Our Question No. 8 is this:  PEG notes that regulatory lag strengthens performance incentives.  Is it possible for PEG to measure the extent to which the difference in regulatory lag between Enbridge and Union has resulted in different levels of productivity over the period of the historical data set?


DR. LOWRY:  Well, the incentive power model would address that.  Whether it really addresses it in a satisfactory way is a different matter. 

Remember about Union, that, yes, they haven't had rate cases as frequently as Enbridge, but that doesn't mean that they have had infrequent rate cases.  I think the average for the last ten years is about three, that it's a three-year lag, 3.3 years between rate cases.  To my way of thinking that is about average for utilities around North America.  That is not an extraordinarily long period between rate cases. 

MR. SHEPHERD:  Yes, but relative to each other -- 

DR. LOWRY:  It is the difference between somebody that has an average number of rate cases and a company that has rate cases extraordinarily frequently.  

MR. SHEPHERD:  In terms of quantifying that effect, that is sort of built into your incentive power model.  But from our point of view, it is sort of in the black box there somewhere.  We're not going to be able to disaggregate that from your model.  

DR. LOWRY:  I don't know that the model is -- are we still talking question 8?  I don't know that the model is entirely satisfactory for that purpose.  

It could measure the difference in typical productivity growth of a three-year regulatory lag versus one.  And it is a material difference; but whether that is, you know, is going to explain this marked difference in their productivity growth, I can't say.



MR. SHEPHERD:  Question No. 9 is:  What are the ways in which the prices of other utilities can be used to establish rates or establish rules for setting rates, for example, X factor calculations.  

This goes to benchmarking, and, in this context, benchmarking on a price basis between these two utilities.  You started to answer that. 

DR. LOWRY:  Yes.  It's not illegitimate to try doing things that way, but it is still very complicated, as I said before.  When you have a price -- that's sort of equivalent to having a unit-cost comparison.  You know that a unit-cost comparison is not fully satisfactory.  You would have to choose a peer group very carefully for a unit-cost comparison to be valid.  You have to do a lot of the other business conditions of the company.  For example, in the case of Enbridge, you would want other large gas distributors, very large ones.  

When you are talking rates also you have other little eccentricities.  For one thing, if you are just comparing a particular rate class, different companies have different rate designs; different companies have different economies of scope, in terms of all of the other services they provide and their ability to spread their costs over many.  

Additionally, with rates, you get into eccentricities with capital costs, because maybe one company had a little bout of accelerated depreciation and another didn't.  Whereas when you do it on a cost basis, you can standardize the treatment of capital cost to try to avoid those eccentricities.  So it is perfectly valid to try doing it but it is still a pretty fair-sized can of worms. 

MR. SHEPHERD:  When you do cost benchmarking, if two different utilities had different depreciation policies, one depreciates faster than the other, for example, then the one that depreciates faster than the other will have higher rates, at least in the short term. 

DR. LOWRY:  Yes.  Then after it is over, they will have lower rates. 

MR. SHEPHERD:  That's right.  But your cost benchmarking won't take that into account.  

DR. LOWRY:  Right.  It will standardize the depreciation.   

MR. SHEPHERD:  Our Question No. 10 deals with declining average use.  If the declining average use of non-residential customers in the general-service classes is materially different from the declining average use of residential customers in the same classes, how should Union deal with average use in the context of its classes M1 and 1, which are both residential and non-residential, and M2 and 10, which basically include only non-residential? 

DR. LOWRY:  Yes.  That is a problem that, with the way their services and their customers have been grouped that Enbridge doesn't have.  

It's possible that a business general-service customer could be adversely affected by that aggregation, in terms of the service group's specific price caps.  

MR. SHEPHERD:  The last question is:  You talked in one of your answers about how instead of having a stretch factor, it was possible to use a reduction of initial rates to, in effect, share benefits of the IR plan between ratepayers and shareholder.  

Maybe that is just intuitive, but could you describe examples of how that works.  

DR. LOWRY:  Well, in Britain, I will give you an interesting example of that, because they are very aggressive in their use of benchmarking for power distributors.  So they came up with reckonings, be they fair ones or not, of the operating efficiency of the companies.  

They also have a system where the price-cap index is supposed to basically track the forecasted unit-cost trend of the company.  They have like a five-year forward test year.  So they actually have a notion of the revenue requirement and the output over the five-year period.  So if they want to dock somebody for their operating efficiency, they know they can either have a higher X factor or they could have a lower initial rate which they call in England a P0, and there are open discussions of whether to adjust the P0, or the X factor.  

So it can be, in principle, be done either way.  Either one of those approaches has a benefit that doesn't affect the operating efficiency of the company.  At least that is my belief.  

Now, Mr. Lister has a calculation that purports to show that a stretch factor will weaken performance incentives.  I might comment in this regard, if that is a concern of his, then according to this analysis we could have an initial rate reduction instead and there wouldn't be as much of a problem.  

MR. SHEPHERD:  The difference between the initial reduction and larger stretch factor is just the pattern of the incentive; right?  The shape of the rate change?  You're not talking a matter of dollars? 

DR. LOWRY:  It simply the shape of the rate change, yes.  Either one of those approaches should, in my opinion, not affect operating, the incentives to improve performance.  

MR. SHEPHERD:  You say they have debates about whether to use one or the other.  

DR. LOWRY:  Not really debates.  They just sort of -- they openly discuss it.  There isn't -- it's not a litigious process, so it is a debate that the regulator has with himself.  

MR. SHEPHERD:  They're not completely interchangeable?  They do different things; right?  

DR. LOWRY:  There are two ways to accomplish the same thing.  Money is money and you could figure it out either way, what the expected net present value of the reduction, you know, you can have equivalent reduction in net present value of revenue using either approach. 

MR. SHEPHERD:  Even if they are equal over the five years let's say of a plan, in the one case the utility is getting its ROE whacked right away, quick.  And better move fast to deal with efficiency or it is going to look bad, right?  Whereas in the other case, it can sort of gently work in its productivity efficiencies and still have an okay ROE.  Isn't that true?  

DR. LOWRY:  I personally, I don't think that they would have much difference in the effect on efficiency, on incentives.  

MR. SHEPHERD:  Those are all of my questions, thank you.  

MR. ROSENBERG:  Thank you.  Enbridge.  
Questions by Mr. Campbell 

MR. CAMPBELL:  Yes, thank you, Ken.  Rick Campbell for Enbridge with Michael Lister.  Good morning, Mark.  We have provided in advance a list of questions totalling 27 on eight pages.

Looking at the questions this morning, starting on page 5 and starting with Question No. 17, it is entitled, "Questions Arising From PEG's Response to EGD Interrogatories."

 Looking at those questions, which are quite technical in nature and quite lengthy, some of the questions, we would be content if you agree to receive those answers in writing through undertaking, if that is satisfactory.

DR. LOWRY:  Sorry, for which ones?

MR. CAMPBELL:  Seventeen through 27.

DR. LOWRY:  Sure.  As you see, I think we already have those answers in writing, so...

MR. CAMPBELL:  Now, with that, there is one amendment that Mr. Lister would like to suggest to Question No. 25 of that list, which he could read into the record.

DR. LOWRY:  Okay.

MR. LISTER:  Yes.  This is with respect to 25, and it is based upon word received from our expert.  So I will just read it verbatim.  They suggest that they have observed that the Durban-Watson statistic for PEG's truncated COS model is 0.274 and 0.269 for the GD model, which indicates auto correlation, and they ask, Could PEG rerun the COS and GD models correcting for auto correlation?


DR. LOWRY:  Well, let me comment on that, that that could involve a lot of work and we've got a lot on our plate to do a lot of the other things that people have asked us to do, like the 2006 update.  So I will have to discuss with Board Staff whether that can be done in the time allowed.  

I would like to do that.  That would be interesting.  


By way of background, we already have a very complex estimation procedure which tries to control for some of the complexities in statistical cost research that are well recognized.

It is not totally unreasonable to ask for this additional complication to be added.  We're already in the realm of custom software.  So I'm not sure we can do this, but I can discuss that further with Staff.

MR. MILLAR:  Why don't we take undertakings for the balance of them.  We will take the undertaking for 25 on the understanding that it's a new question we hadn't had a chance to consider before.  We will certainly take it under advisement and we may well be able to provide the answer.  

If we're not, we will have off-line discussions and work something out.  


Before we go any further, why don't I formally give these undertaking numbers.

Okay.  So we're doing questions 17 through 27.  JTC.5 is Enbridge 17.  JTC.6 is Enbridge 18.  JTC.7 is Enbridge 19.  JTC.8 is Enbridge 20.  JTC.9 is Enbridge 21.  JTC.10 is Enbridge 22.  JTC.11 is Enbridge 23.  JTC.12 is Enbridge 24.  JTC.13 is Enbridge 25, subject to the discussion we have just had.  JTC.14 is Enbridge 26.  JTC.15 is Enbridge 27.
UNDERTAKING NO. JTC.5:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 17. 

UNDERTAKING NO. JTC.6:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 18. 

UNDERTAKING NO. JTC.7:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 19. 

UNDERTAKING NO. JTC.8:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 20. 

UNDERTAKING NO. JTC.9:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 21. 

UNDERTAKING NO. JTC.10:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 22. 

UNDERTAKING NO. JTC.11:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 23.


UNDERTAKING NO. JTC.12:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 24.

UNDERTAKING NO. JTC.13:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 25, SUBJECT TO DISCUSSION. 

UNDERTAKING NO. JTC.14:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 26.

UNDERTAKING NO. JTC.15:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 27.  


MR. CAMPBELL:  The questions that remain, Mike Lister will ask you Questions No. 6 through 16.  Here again, if you find it is your preference to respond in writing, that is certainly satisfactory to us, as well.  But Mike hopes to have a bit of a discussion with you today.

Of the other ones that remain, 1 through 5, I think some of them have been dealt with.  I just have a few questions with respect to the others.  Certainly we have heard that Question No. 3, which asks that you might calibrate an adjustment to the X factor for Enbridge, given our request for a Y factor, I think you have agreed through undertakings to provide that.

DR. LOWRY:  And our ability to do that in a timely fashion is contingent upon your cooperation, I would like to comment.

MR. CAMPBELL:  Yes, understood.  Thank you.

With respect to question 2, we asked:
"Does PEG have any reason to conduct additional research or make further amendments to its X factor recommendation for Enbridge's revenue per customer cap?  If so, when do you expect your conclusions to be available?"  

We have had some discussion of that over the last couple of days.

I wonder if we could attempt to list those things that you are pursuing - we have heard reference to some - the first of which is the update to reflect 2006 data.

Did I also understand that there was a request or a consideration to update for 2007 approved rates?

DR. LOWRY:  Just with regards to the weighting on the revenue cap, on the revenue-weighted output index that goes into the average-use calculation, yes, that is another one.

MR. CAMPBELL:  Then we're expecting to get data requests from you shortly, is that correct, the utilities are?  Should expect a data request?

DR. LOWRY:  Yes.  I don't know, but -- that you already have them, I'm not sure.

MR. MILLAR:  I think that has already been distributed.

MR. CAMPBELL:  Was that by e-mail?

MR. MILLAR:  I think hard copies were distributed yesterday.  We can sort it out off-line.

MR. CAMPBELL:  If it is received -- thank you.  I would appreciate it.  So that is one.

Now, we have heard some discussion this morning, perhaps, of amendments to your methodology to take into account earthquake - and what was the other - frost-depth risk adjustments.

There is a reference both today and yesterday to modification perhaps to peer group.  Is that another --

DR. LOWRY:  Any little change in the methodology could affect the peer group.  There were no conscious attempts to elicit that issue.  That comes automatically from other aspects of research.

MR. CAMPBELL:  Any other things that you wish to pursue that you can recall right now we might make note of?

DR. LOWRY:  There is quite a list, and I don't know that we're going to get to all of them.  One thing that I would like to do is to consider the possibility of introducing the line-miles variable into the analysis.

I feel that of all of the criticisms that Enbridge has made of our research, almost none of them are valid, but that is one that may be valid.  Certainly anything that we suspect might be valid we're happy to look into.  That is sort of number one on the list of things that could affect results for both Union and Enbridge.

So that is one of the things that we hope to get to, introduction of a line-model variable into the cost model.  To do that, however, please take note we need your detailed line-model data, and the same for Union.  We would like it broken down, by the way, into cast iron and other.

MR. CAMPBELL:  Thank you.  Sorry, Michael?

MR. LISTER:  Yes.  Would that have been part of the data request?


DR. LOWRY:  Yes, it is in the data request.  In fact, we already requested that and I don't think we got it in the round of interrogatories we requested that, but didn't get it from you, to the best of my knowledge.

MR. HASSAN:  Can you get a little closer to the microphone?

DR. LOWRY:  Sorry, yes.

MR. HASSAN:  Thank you.

MR. CAMPBELL:  Thank you.  Anything else come to mind that you would give priority to pursuing?

DR. LOWRY:  Nothing is coming to mind, but it is a fairly long list of little odds and ends.  Someone had asked for a slight change in the capitalization structure between debt and equity.  Apparently there is a slightly different one now.  We will definitely put that in.  

Those are the ones that come to mind.

MR. CAMPBELL:  Thank you.  I wonder if, Mike, Board Staff could remind us about your hopes for this work to be completed in terms of timing and when it might be available to all parties.


MR. MILLAR:  With respect specifically to the density issue, I think first we need the data.  But, as I understand, and Dr. Lowry can correct me if I'm wrong, I think it is about two-week turnaround time once we have the data?


DR. LOWRY:  After we get the data, yes.

MR. MILLAR:  Maybe I could turn it back to you and Mr. Packer, if he is prepared to answer right now.  Obviously the faster you can produce the data, the faster Dr. Lowry can get to work on it.

Do you have an idea of when you might be able to provide that?

MR. CAMPBELL:  I'm sorry, I just haven't seen the request yet.  But we would certainly give it very high priority, knowing that we're all tight on schedule.  I would have to consider it before we can say specifically.

MR. MILLAR:  I don't know, Mr. Packer, if you're prepared to respond or if you have any issues surrounding this?

MR. PACKER:  All I can say today is we're looking at the request and we will try to provide the data as quickly as possible, but it's not obvious to us it can be produced in a couple of days.  

DR. LOWRY:  Which is fine, as I said yesterday, because we have about a week of work on this power-distribution benchmarking study anyway that involves some of the same personnel.

MR. CAMPBELL:  Thank you.  When we asked our questions we hadn't seen your response to the question to you from Board Staff to calculate a revenue-per-customer-cap index for Enbridge.  That response has been provided now, in response to Board Staff No. 1, to you.  

I wondered if we could just have a general discussion, looking at Question No. 1 and Question No. 5 together, of how you view the operation of a revenue-per-customer cap in combination with a balancing account.  

Looking at what you provided to Board Staff, it boils down to the inflation factor of, what we're assuming right now for GDPIPI of 1.86 percent minus your recommended X factor of 2.10 percent, plus the growth factor recommended of 3.27 percent yielding a revenue-cap index for Enbridge growth for 2008, for instance, of 3.03 percent  

That sort of outcome, I think, led to your observation yesterday and again this morning that in this sort of outcome, the inflation factor is fully offset by the X factor that is calibrated, with the result that we would essentially be looking at a revenue-per-customer freeze in terms of inflation, but revenues would grow with the growth of the system anticipated. 

DR. LOWRY:  That's right, according to that analysis.  As I said yesterday, there are precedents for that approach.  

That's an approach to revenue-cap indexing that fits the circumstances of a company that characteristically has or should have rapid productivity growth.  

It wouldn't work so well for a company that had slow productivity growth.


MR. CAMPBELL:  And that growth factor is fixed for the term of the plan, I take it?


DR. LOWRY:  Yes.


MR. CAMPBELL:  And the revenue-cap index, then, reflecting the growth factor is independent of what the utility actually does in the way of customer attachment through the plan?  That is, the revenues are provided by the index, independent of the actual number of customers attached.


DR. LOWRY:  No, no.  It is dependent on the number of customers attached, if it's a revenue-per-customer index.  

MR. CAMPBELL:  What are the mechanics of that, then?  

DR. LOWRY:  If it's a revenue-per-customer-cap index, it's determining your revenue per customer.  But the revenue you get out of that depends on how many customers you have.  So it definitely -- you are incented to add customers.  

MR. CAMPBELL:  So there would be an annual adjustment for the forecast number of customers added?  

DR. LOWRY:  It could be done that way, but I was thinking that it would be historical, just last year's customer growth.  But it could be done on a forecast basis.  

MR. CAMPBELL:  I don't know if I am understanding then, because you agreed that the 3.27 number, the growth factor is fixed for the index.  But there seems to be an annual adjustment as well, based upon customer additions.  

DR. LOWRY:  Well, first of all, I'm a little confused because I think we may be talking about the Staff thing as opposed to my answer to your Question No. 1, which has a little bit more refined discussion of this.


MR. CAMPBELL:  Perhaps maybe you can offer your answer to our No. 1 then and we can go from there.  

DR. LOWRY:  In the table for Staff, it actually didn't take that last step of getting to a revenue-per-customer cap and that is where you get down to a virtual revenue-per-customer freeze.  

At any rate, though, think about it.  If you have a revenue-per-customer freeze your revenue requirement depends on how many customers you have.  So the more customers you have the more revenue you will get.  So to me, it is clearly linked to your customer additions.  

An example of a revenue cap that is not linked to the customer additions is the ones that San Diego Gas & Electric and Southern California Gas have, and that is just the CPI minus zero and they didn't like that.  They complained about that attribute of that plan, which wasn't their proposal.  They liked having it linked to the actual customers.  

MR. CAMPBELL:  When total revenues are determined by application of the formula, how are those total revenues recovered from customer?   There would have to be a volume assumption in order to calculate rates.  What volume assumption would that be?  

DR. LOWRY:  The index doesn't address how you recover it.  So that can be done by traditional cost-of-service method.  

MR. CAMPBELL:  Okay, thank you.  

Now, bringing the balancing account into play.  How do would you describe the balancing-account operation?  

DR. LOWRY:  Well, the balancing account is just going to take note every year.  It is going to record the difference between your actual revenues and your revenue requirement.  

If there is any difference between those two, which could be due to declining average use or just weather volatility or decline in the economic activity, which hopefully isn't the problem for your service territory, then any discrepancy between those is, then, the basis for a rider or an additional rate component in the following year and will recover that.

 Now of course it will recover that imperfectly as well.  Who knows what the weather is, and so on.  But with repeated application, you would have hopes that basically the trend in your revenue is equal to the trend in your revenue requirement.


MR. CAMPBELL:  Right.  It just introduces that one rate-year lag into the equation.  That is essentially what's described as a true decoupling of the revenue requirement from -- 

DR. LOWRY:  Yes.  It is a decoupling mechanism. 

MR. CAMPBELL:  Thank you.  Now, on the other side, and  I recall you saying yesterday in your observations that you prefer plans or you would recommend plans that allow the utility the flexibility to introduce new rates and services.  

Would the balancing account, in effect, operate to deny the utility the revenues associated with those new rates and services?  

DR. LOWRY:  Yes and so that is a problem to the extent that a utility is serving some loads that have a price elastic demand.  For Union, that is a big part of their business.  For Enbridge, it is, I would think a considerably smaller part.  Therefore, I thought that maybe for you, it would be fine to do it that way.  

MR. CAMPBELL:  I just have one other question before I let Mike continue.  That is our Question No. 4 with respect to the term of the plan. 

I think you recall that the Natural Gas Forum Report determined by the Board was recommending the next generation plans for the gas utilities to be from three to five years.  Board Staff discussion paper of January 5th of this year had indicated a term of four to five years.  The utilities have made application for five-year plans.  

I am wondering if you can outline your own preference, based on your research, as to what an appropriate term might be or a preferred term might be for a comprehensive incentive-regulation plan for the two utilities.  

DR. LOWRY:  That's not exactly what the written question was, so I will respond with a little different answer.  I think something in the four to seven range would make sense, to me.  

You have to get up to four years before you're really in the realm of IR.  To me, three years is more like cost-of-service regulation. 

Beyond seven years, there is enough uncertainty that one party or the other is going to end up being sorry they agreed to that and I hate to see that.  So I think the four to seven years makes sense.  

Five years, which was your original question, is perfectly normal for these plans and I think the trend in the industry is a little bit longer than five.  But five is -- since Ontario doesn't have much experience even with five, that is perfectly understandable.  

MR. CAMPBELL:  The second part of the question is, are from any explicit disadvantages of a shorter term, say three years?  

DR. LOWRY:  Just there is a fair bit of difference in the incentives between three and five years, particularly with regard to any long-term performance improvement initiatives, which often have a pay-back period of three to four, maybe even five years.  

So therefore to me three years would be too short.  

MR. CAMPBELL:  Thank you.  Michael will address the balance of the questions.  
Questions by Mr. Lister 

MR. LISTER:  Thanks, Rick.  I have a few follow-ups and a couple of amendments and I think, for many of the questions you've already provided answers, so thank you already for that.

My first follow-up is with respect to the earlier discussion on rate freezes.

Are you aware of any other impacts that rate freezes often carry with them, for example, adjustments to ROE or any other such adjustments?

MR. MILLAR:  Are we on a specific question, Mr. Lister?

MR. LISTER:  No.  This is a follow-up to a discussion you were having earlier this morning with Mr. Shepherd.

DR. LOWRY:  Are you referring to ROE impacts of rate freezes or something else?

MR. LISTER:  Yes.  You referred specifically, I believe, to New York State.  It is my experience that often, when a rate freeze is contemplated, there is a likewise contemplation for an upward adjustment in ROE as sort of a benefit to the increased risk related to the rate freeze.

DR. LOWRY:  I'm not aware of that.  It could be true, but I am not aware of that.

MR. LISTER:  Thank you.  So I will jump in right at No. 6, which is with respect to the series that you used to compute capital costs.  I note that you used that here in Ontario for the calculation of the IPD.

My question then is:  Do you do the same for the US, or do you use that construction series in the determination of capital costs for the US sample firms? 

As well, you indicated that one of the reasons for switching out that series in the June report, as opposed to the March report, was due to some objections raised by Union Gas.  I wonder if you could provide any other details you might have regarding those objections.

DR. LOWRY:  Well, we need a construction-cost index to calculate TFP, and, naturally, we want the best available index.

In the United States, there is this outfit called Whitman Rechart & Associates that computes construction-cost indexes for all of the major segments of the US energy utility industry.

So we use those, because we think they are -- they're the best.  They make their living trying to get that as accurately as possible.  Not only that, it is available for I think five or six different regions of the United States, which is also desirable.

Now, in Canada, there is no counterpart to that.  There is on the power-distribution side, for some reason, but not on the gas-distribution side.

So what we were doing originally was using the Handy-Whitman Index with an adjustment of some sort for Ontario.  

Now, those indexes have been very volatile recently, the United States indexes, and so naturally, applying -- first of all, it isn't going to help with the input price-differential calculations to have all of that volatility.  It makes it all the harder.  It makes more opportunities for people to advocate unreasonable sample periods and hope to get a higher X factor or lower X factor as a result of it.

So we weren't -- and indeed, that was a big part of what tipped the scales for us to try to finish off this cost-of-service method for capital costing, is that there was this horrific volatility in the capital price.

Another reason we did it is we knew that Enbridge was a rapid-growth utility and we thought that maybe the cost-of-service approach would be more sensitive to the cost pressures that result from that.

In the event, there was this interval during which Union and Enbridge both had an opportunity to comment on our methods.  Union took us up on that and Enbridge didn't.  Union brought in their consultant, Melvyn Fuss, a well-known professor at the University of Toronto, who has done productivity research in Canada for gas.

He commented to us that, Don't you know that there is this other way that you could do the capital cost?

We always have our ears open for new and better ideas.  We're just trying to get at the truth in our work for the Board.  So we went and looked at that and it worked pretty well.  So we just decided Let's exchange this.  Here is a more stable index that is made in Canada compared to this less-than-optimal projection from the United States of their input-price issues.

So we were happy to implement Dr. Fuss's suggestion.  That is the kind of reasons why there was a June report, is that we were listening for ideas and we tried to respond and pick the good ones and make a better study.

MR. LISTER:  Thank you.  Questions No. 7 through 9 relate to the report that was attached to, I believe it was, EGD's Interrogatory No. 12, the report entitled, "The O&M Cost Performance of Enbridge Gas Distribution - Update".

I believe you have answered the bulk of the questions through your earlier discussions with PWU, as well as Schools.  I do have one follow-up that isn't written here, and it is just a contemplation that has occurred to me in the meantime, and that is this:  Would it stand to reason that if a firm was a superior cost performer at the beginning of a study period, and perhaps at the end, that, all else equal, that firm may experience or may likely experience slower productivity growth relative to the sample?

DR. LOWRY:  Yes, that is theoretically possible.

MR. LISTER:  I will move right on, if I could, to question 10, and the next few questions relate to some data issues.  I am really only just seeking clarification here.

I wasn't aware of the period for which Enbridge was extended the invitation to work with PEG, and I wish I had been included in that, because I do share your frustrations that were evident in your IR responses.  I wish we had more opportunity to work together.  So hopefully these will be easily answered by you.

In March, PEG provided to EGD the data aggregation -- the disaggregated data was presented to PEG, and PEG sent back the aggregation of the data.

You will see a number of columns there indicating the PEG-estimated net salaries and wages, the benefits and the pension costs for the years 2000 to 2005 that PEG supplied to EGD in March of 2007.

Below that, I show three corresponding columns of the same data that was provided in an IR response.

The key difference here is the PEG-estimated net salaries and wages for the years 2004 and 2005.  I wonder if you could just highlight for us, first of all, how does PEG estimate the net salaries and wages, and what might have been the reason for that change?

DR. LOWRY:  The reason I didn't answer this question and had to postpone it and make an undertaking of it is that this is something I personally did, so I couldn't delegate it.  I had so many other things on my plate just last week.  

I hate to raise a sore subject, but the reason there is an issue here is that, despite repeated requests by Board Staff, Enbridge did not provide us with an estimate of net salaries and wages.  Therefore, I had to estimate it, based on such data as was in my possession.  

So I did the best I could, and I believe it is the case that the final way I did it was different from the first way.  I thought better to change it a little bit, and I didn't have time to find that file where I did that.  I wasn't able to answer that last week, but I will.  I will try to answer that in an undertaking by the undertaking deadline.  

MR. LISTER:  Thank you.

MR. MILLAR:  That is JTC.16, and it is to provide a response to Enbridge Question No. 10.
UNDERTAKING NO. JTC.16:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 10.

MR. LISTER:  Just a follow-up to that.  I was glancing through the most recent data request and I do see the request here for the O&M data with respect to net salaries and wages.  I wasn't involved with the preliminary data efforts, so I will work to understand what the issue is there, if there is one.

DR. LOWRY:  Well, the issue is about double counting of the costs, because if you capitalize a chunk of your --

MR. LISTER:  I understand, yes.

DR. LOWRY:  -- then you could be double counting it.

MR. LISTER:  Yes, I understand that part of it.

Okay, Question No. 11, then.  In PEG's report, I believe it is at page 21 and that, in fact, may be the June 8th report, not the June 20th report, the definition of total labour cost is given as the salaries and wages that contributed to net O&M expenses, plus all expenses for pensions and other benefits.  

This is the comment you were just making:  Net rather than gross salaries and wages are required to avoid double counting labour expenses that utilities capitalize.  

So based on that definition, I have calculated below the total labour cost.  You will see the years 2002 through 2005 and the average annual logarithmic growth at the bottom there.


I did two columns here.  The first column shows the aggregation according to that definition, and the second column is the labour cost reported by PEG through Interrogatory No. 38.


I wonder if you could highlight how that difference is materialized.


DR. LOWRY:  First of all, I would note the growth rates here are very similar between the two.  Still you're entitle to an answer to the question.

The difference between those is that the left-hand column doesn't have the benefit-and-pension costs adjusted to be net, and the right-hand column does.  That's my understanding.  

MR. LISTER:  Thank you.  Similarly, Question No. 12.  There are a few typos here so I will just try to clarify if I can.  

The definition of labour, and it should read quantity and price, is given as follows at page 28:  

Each quantity subindex for labour was calculated as the ratio of salary and wage expenses to a labour-price index.  For the Ontario utilities, we used as a labour-price deflator, an Ontario construction-workers salaries and wages index.  

The first sentence here in question 12 is factually correct.  In Interrogatory No. 38, PEG provides information on the labour cost.  

The sentence I am missing in there is:  In Interrogatory No. 20, PEG provides data on total salaries and wages.  

Then the question continues:  In table 6 of the June report, PEG provides a labour-quantity index and in table 13A PEG provides the labour-price index as shown below.  

In the table below, I have shown here the three corresponding indexes, and you will note the average annual logarithmic growth at the bottom.


The numbers don't seem to correspond with the definition given earlier.  I wonder if you could indicate if there were any adjustments made to the total salaries and wages to derive the labour -- and that should read quantity index.  Because you expressed a labour price index was given by the Ontario construction workers' salaries and wages. 

DR. LOWRY:  Well, as the answer attempts to explain, these three are not consistent with each other, and we didn't use the two to get the third or anything like that.  

So that is why the two are not quite consistent.  

MR. LISTER:  Would you be able to endeavour -- 

DR. LOWRY:  The total salaries and wages, to get at a labour quantity, we're going to take our estimate of the net salaries and wages divided by the labour price index, to get to the quantity index.  So that extra net salaries and wages isn't recorded in this assemblage of indexes that you have provided here for this question.  

MR. LISTER:  Fair.  

DR. LOWRY:  Also, as it says here, we used two different labour price indexes in the work.  

One, to get at the best estimate of the labour quantity, and that was to match up your net salaries and wages to a salaries-and-wages index.  

Now for purposes of the input price differential, we want to get the pension and benefit effect as well.   

So for that purpose, we used a labour-price index that included the pensions and benefits.  

MR. LISTER:  Thank you.  I will move on to question 13.  The next series of questions arise from PEG's response to IGUA Interrogatory No. 12 in a report entitled:  "PEG Objections to EGD's Testimony."  

Again, I think you provided some of these answers. I think probably you ever already responded to No. 13.  I will just skip the question and sort of sum it up as:  Could you confirm that Enbridge in fact hasn't made an adjustment to its X factor.


DR. LOWRY:  I agree, it doesn't seem to have done that.   

MR. LISTER:  Thank you.  The next question relates to, in the interrogatory response PEG indicates that it is inappropriate for the company to rely on its own history for establishing a TFP benchmark.  Then on page 13, PEG states:  In North America, X factors are usually based on industry productivity and input price trends.  

For clarification purposes, does PEG believe that the benchmark or projection used to establish the TFP industry component of the productivity differential could be established either through a modelling exercise, as PEG has undertaken, or through the use of industry history, rather than company-specific history?


DR. LOWRY:  Broadly defined, sometimes -- that just means it is based on the productivity trends of other utilities, like a peer group.


MR. LISTER:  Yes.


DR. LOWRY:  Sometimes people use the term "industry" to mean to, say, a region; you could take the productivity trend of the northeast gas-distribution industry.  I don't know that that would be appropriate.  It would be a bit of a surprise if any such a regional aggregate, shall we say, would be a proper peer group.  

Definitely I can see how it could be appropriate to use the peer group approach instead of the TFP projection approach.  I provide both to, you know, in the knowledge that maybe some people will prefer one to the other, and I think I have good reasons for using the peer group.  

MR. LISTER:  That's fair.  Thank you.  

In going through the interrogatory responses from PEG, there were two files named "index I" files, corresponding to how they calculated the cost of capital; for example, one was called the "GD index I" file and one was called the "COS or CS index I" file.  

In those files were, it appears to be, the actual TFP histories for the US firms.  

Would it be possible for PEG to produce, by way of undertaking, the actual TFP histories rather than the modelled history for the US LDC sample?  

And could PEG produce this information on an individual company basis for the entire - I realize you used 36 firms, so that should read 36 firms - sample.  And could you produce the history for both the cost-weighted and revenue-weighted TFP?


DR. LOWRY:  I am told that we did provide that.  I think, in fact, some of Enbridge's testimony seems to indicate an misunderstanding we didn't provide many TFP numbers, but in reality we provided lots of them.  The whole peer group thing is not based on econometric projections, it's their actual TFP indexes. 

So I think everything you are asking for has already been provided.


MR. LISTER:  The second part of the question is:  Are the following mneumonics underlying the actual histories as follows, and I have a list there for clarification purposes.  

These are mneumonics that are contained within the "index I" files that I previously mentioned.  So would YNDX2 equal cost-weighted output?  These were mneumonics, by the way, that I couldn't find anywhere in any other PEG keys.  

DR. LOWRY:  Yes, that I can't answer.  I will take that as an undertaking.  

MR. LISTER:  That's fine.  If it is an undertaking -- 

DR. LOWRY:  By the way, I misunderstood that.  I think we all misunderstood that was a question.  Now I see it is a question.  Sorry about that. 

MR. LISTER:  That's all right.  By way of undertaking, before we assign it an undertaking number, I wonder, then, if I could also add three mnemonics to the list.  I will read them so that you will have them on the record.

They are that YV equals total volume; that YVRC equals residential and commercial volumes.

DR. LOWRY:  I'm sorry, could you...

MR. LISTER:  Sorry, I will start again.  

DR. LOWRY:  I've got the first one.

MR. LISTER:  YV equals total volume.  The second is YVRC equals residential commercial volume, and the last is YVOTH, which I presumes stands for "other", equals other volumes.

MR. MILLAR:  We will call that JTC.17, and that is to provide a response to Enbridge Question No. 15 and only the portion relating to new mneomonics, with the additions that Mr. Lister has just put on the record.
UNDERTAKING NO. JTC.17:  DR. LOWRY TO PROVIDE WRITTEN RESPONSE TO ENBRIDGE QUESTION NO. 15, AND ONLY THE PORTION RELATING TO NEW MNEUMONICS WITH THE ADDITION NOTED BY MR. LISTER


MR. LISTER:  Thank you.

DR. LOWRY:  I also state that I'm impressed that the word mneumonics is in your vocabulary.  It is not in mine.

MR. ROSENBERG:  Can you actually spell that out?  I get a just-in-time transcript here.  The court reporter might be assisted by how you spell mneomonics.

MR. LISTER:  I will spell my understanding.  Mneumonics means --

MR. ROSENBERG:  I don't need a definition, just the spelling.

MR. LISTER:  Okay, mnemonics, M-N-E-U-M-O-N-I-C-S.  I feel like I'm in a spelling bee or something.

On to Question No. 16, which I believe you have already answered, and through Undertaking No. 4, which was assigned today, you're going to see whether or not you can provide a sensitivity of the initial operating efficiency, what the effect is of changing that variable on the total stretch factor would be.


So we would be happy to have that as a response to the question.

DR. LOWRY:  I would comment about this, that under the time pressure, I rushed you a run that addressed this, and then I got back to the guy that does this for us, who is a brilliant grad student at Stanford Business School and said, Geez, that isn't much difference between them.  

He got back with some comments and even a new run that I haven't read yet.  So that changes things.  It will be -- I will get back to you.

MR. LISTER:  Would you foresee that that would be part of your sensitivity answer?

DR. LOWRY:  Yes.

MR. LISTER:  Or do you think we should assign another undertaking here?

DR. LOWRY:  It would be an update of this one or, if needed, it could be deemed one of the...

MR. MILLAR:  Maybe we should give it an undertaking number if it is answered in a different response, then.

MR. LISTER:  Fair enough.

DR. LOWRY:  Please double check the incentive power results for the superior cost performer scenario.



MR. MILLAR:  That will be undertaking JTC.18.
UNDERTAKING NO. JTC.18:  DR. LOWRY TO DOUBLE-CHECK THE INCENTIVE POWER RESULTS FOR THE SUPERIOR COST PERFORMER SCENARIO.


MR. CAMPBELL:  Thank you, Mark.  Thank you, Ken.  Those are our questions to Dr. Lowry.

One final comment.  I can recommend a word to you that I have enjoyed reading in the course of reading all of this material.  I had forgotten the word existed, but it is an elegant word.  It is heteroskedasticity.

MR. ROSENBERG:  You're not going to spell it?

DR. LOWRY:  I would like to brag about the fact that one of my professors at the University of Wisconsin was a person who invented that term.  It is just a take-off on the word skedaddle, literally.  That's where it came from.

MR. ROSENBERG:  Well, it is more prosaic.  It looks like we're at the end.  Are there any other questions that any party has?
Procedural matters


MS. NEWLAND:  Just maybe following up on a discussion that Mike Millar and I had before we went on the record this morning.

There was an interrogatory that Enbridge had asked Dr. Lowry, and we felt it wasn't responsive and we were just following up with Mike on that.  He referred us to another interrogatory that was answered by Dr. Lowry put by another party, and suggested that we look at that and see if that satisfied us, and, if it didn't, then we could continue to follow up.  

So we still don't know what that interrogatory is that you are referring us to.

MR. MILLAR:  Yes.  Let me find that for you right away.  We have been sort of focussing on the questions we had this morning and haven't had a chance to look that up, but we will find that for you in the next --


MS. NEWLAND:  I am just wondering, though, if we look at it and it doesn't do it for us, what our recourse is if Dr. Lowry has then left.

MR. MILLAR:  I am not sure, Helen.  If you like, maybe we can stand down.  I don't want to keep everyone else here today, but maybe --

MS. NEWLAND:  Could we maybe take it off-line with you and Dr. Lowry?

MR. MILLAR:  We can take it off-line, absolutely.

MR. ROSENBERG:  Just so I understand, do you want us to actually adjourn the technical --

MS. NEWLAND:  I don't think that is necessary.  I just wanted to make sure there was a process for dealing with this one last outstanding --

MR. MILLAR:  Why don't we take it off?  We will do it right now.

MS. NEWLAND:  Good, thank you.

MR. ROSENBERG:  Are there any other matters?  If not, it looks like we have concluded.  It looks like we have concluded.

Thank you very much.  Have a good long weekend and that is the end of this technical conference.

--- Whereupon the conference concluded at 10:48 a.m.
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